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PART A: Grammar and Vocabulary / Siow; )
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the ' . '
correct choice on your answer sheet. e ole) Lo
76- 1 don’t think it is advisable to start the project because at the moment we have .. /‘%‘S\
information to go on, ...? N
1) only little/ Isn’t it 2) very few/ Do we : o
3) only lots of/ Don’t we 4) very little/ Is it
77- 1 haven’t seen you for ages. As far as | remember, when | last ... you, you ... a job. What do you do right now?
1) met / tried finding 2) met / were trying to find
3) have met / are trying finding 4) have met / tried to find

78- Ordinary people think you have to be skilled in computers to send a message via e-mail but, in fact, it is ...
thing in the world.
1) simple 2) the simplest
3) more simple 4) most simple

79- Be careful boys! ... this wire will be punished by immediate death.

1) Those who touch 2) The one whom touches
3) Those touch 4) He who touch
80- The people sent on this mission had been asked to keep their ... secret; otherwise, their lives would be in
danger.
1) identity 2) treasure
3) inspiration 4) society

81- Believe me! I feel truly ... for your great kindness. How can | repay you for everything you’ve done?
1) hopeful 2) grateful
3) wonderful 4) respectful

82- He considered all of the ... about the place where he lost his wallet. There was only the post office that
he hadn’t looked for it.
1) relationships 2) descriptions
3) necessities 4) possibilities

83- The company I work for ... me to choose between a better salary and a flat in the city center, and I chose the

latter.
1) offered 2) prevented
3) expressed 4) communicated

84- Not ..., our country depends mostly on tourism to provide its financial resources because it does not have
oil, gas and vast lands for agriculture.

1) increasingly 2) unexpectedly
3) unchangeably 4) repeatedly
85- Some recent research will ... enable a lot of individuals infected with HIV to live longer, more comfortable
lives.
1) formerly 2) voluntarily
3) probably 4) comprehensibly

86- The people living here are surprisingly rich, but at the other end of the ... you can find thousands of people
living in poverty.
1) scale 2) format
3) entry 4) circle

87- The road was icy, and the driver couldn’t keep his car’s balance, and running into a big stone along the
road, the car ... flames and its passengers all burnt to death.
1) figured out 2) stood for
3) work out 4) burst into
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PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice
on your answer sheet.

Scientists believe our solar system was created by the collapse of a massive molecular cloud known as
the pre-solar nebula about 4.6 billion years ago. The solar system is heliocentric, ...(88) ... all solar
system objects orbit the Sun. Objects ...(89) ... the Sun in a counter-clockwise direction in an area
called the ecliptic plane. A year is a term used to describe the length it takes for a planet to complete an
orbit around the Sun. Planets closer to the Sun such as Mercury have shorter “years” whereas the
outer planets have longer “years”. ...(90)..., it takes Neptune 164.79 years to orbit the Sun completely,
while it takes Mercury only 88 days. At ...(91)... times during its orbit, a planet’s distance from the
Sun will vary. Its closest point to the Sun is called its perihelion and ...(92)... aphelion.

88- 1) that it means 2) in which means 3) in that means 4) which means

89- 1) keep off 2) revolve around 3) jump into 4) reflect on

90- 1) For instance 2) In addition 3) Besides 4) To be honest

91- 1) effective 2) calm 3) various 4) recent

92- 1) it is the furthest distance that called 2) its farther than the distance that calls
3) it is further than distance called 4) its farthest distance is called

PART C: Reading Comprehension
Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Passage 1
When you imagine the desert, you probably think of a very hot place covered with sand. Although this
is a good description for many deserts, Earth’s largest desert is actually a very cold place covered with
ice: Antarctica.

In order for an area to be considered a desert, it must receive very little rainfall. More specifically, it
must receive an average of less than ten inches of precipitation, which can be rain, sleet, hail, or snow,
on the ground every year. Antarctica, the coldest place on earth, has an average temperature that
usually falls below the freezing point. And because cold air holds less moisture than warm air, the air
in Antarctica does not hold much moisture at all. This is evident in the low precipitation statistics
recorded for Antarctica. For example, the central part of Antarctica receives an average of less than 2
inches of snow every year. The coastline of Antarctica receives a little bit more — between seven and
eight inches a year. Because Antarctica gets so little precipitation every year, it is considered a desert.

When precipitation falls in hot deserts, it quickly evaporates back into the atmosphere. The air over
Antarctica is too cold to hold water vapor, so there is very little evaporation. Due to this low rate of
evaporation, most of the snow that falls to the ground remains there permanently, eventually building
up into thick ice sheets. Any snow that does not freeze into ice sheets becomes caught up in the strong
winds that constantly blow over Antarctica. These snow-filled winds can make it look as if it is
snowing. Even though snowfall is very rare there, blizzards are actually very common on Antarctica.

93- The passage provides enough information to answer all of the following questions EXCEPT... .
1) How much precipitation do different parts of Antarctica experience each year?
2) Where is the coldest place on Earth?
3) Why is Antarctica considered a desert?
4) How many people are living in the central part of Antarctica?

94- The best title for this passage would be ... .
1) Earth’s Many Deserts
2) Antarctica: The Coldest Place on Earth
3) A Desert
4) Strong Winds in Antarctica
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95- It can be inferred from the passage that the main reason behind the formation of thick ice sheets in
Antarctica is the ... .
1) lack of evaporation 2) above average precipitation

3) constantly blowing winds 4) common blizzards

96- According to the final paragraph, any snow that falls over Antarctica ... .
I. becomes part of the Antarctic ice sheet
I1. is blown around by strong winds
I11. evaporates back into the atmosphere

1) I only 2) I and II only
3) Il and III only 4) 1, 11, and III
Passage 2

If you consider the words you use, you will find that you have two main types of vocabulary. The first is
your general vocabulary; the second is made up of your technical vocabularies.

Your general vocabulary includes the words you commonly use in conversation and correspondence,
and the words you read in newspapers, books and magazines. Your technical vocabularies include the
words you find in specialized subjects or fields such as history, chemistry, engineering, medicine, farming,
auto repair, cooking, etc.

You can find your general vocabulary indirectly through extensive reading; that is, through reading
widely in different fields. You can also increase your general vocabulary directly through studying words.
Through your reading and your other experiences, you can develop your technical vocabularies. Of
course, you do not want to master the technical vocabularies of all the different professions or trades. In
fact, you could not learn all these vocabularies even though you spend a lifetime trying to do so. Yet, you
will need to acquire technical vocabulary in each subject or field in which you are especially interested.

97- The passage is mainly about ... .
1) the importance of technical vocabulary
2) how to learn general vocabulary
3) why people learn vocabulary
4) types of vocabulary

98- The underlined word “extensive” in paragraph “2” is closest in meaning to ... .
1) creative
2) recreational
3) practical

4) essential

99- It is most probable that you ... .
1) first learn your general vocabulary
2) learn both types of vocabulary at the same time
3) never use some of the general words you have learned

4) find technical words in correspondences

100- According to the techniques of paragraph writing, this paragraph. ... .
1) explains something 2) shows the cause and effects

3) compares two things 4) tells a story about words
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